BECERE (% 6 £&B91%)
YRk 3144 A 10 B

MIES HHSHE RE E &
racmmenn g R /%17 @
THNEERBEEDE N XS R

P TRRBBEBRORZIET 2 RFIE 6 KB 1 HOREICLY ., FJEDLBY
FRBOF EBBESRINTHESZRE LET,



allbES

PRS0 E BB IR B B I R &

PEL THLEE BH RE
1 IXA (BT : )
# B IRAEE B =
BBESE 240, 000
T DAt 0
aF 240, 000
2 XH (BAor - F9)
# B X H%E " &
A EE 0
HERE 84,380| A& BiEEh#REE) 28
IR E 0
JRREE 0
i# - BEESE 48,990| B [BEEEHREE] 2R
SRR 0
EEHERE 5,067 H BUESEE#MEE) 28
EREAER 71,813| BE BUEEEHREE) R
INCE -4 0
BEE 0
&5t 210, 250

() EBWITIE. E-2KHEONREZLEHT 5,

3 TR

29, 750 ™




BB ETIBREE (FEFRIVEED)

E & HE BE
B: ¥rk30&F 48 18
Z: Fm3lE 3A3H
A B & E3)] A = # B & & " &
(A)
0
B E OO O 2 IhE 0
10 | 22 [B)IFREPFHEBZSERS 2#E4 5, 000| -FRE A
< B c WKL S DHUKSL Y R
11 5 [[HLEATESBEMES MMILF AE4 3, 000
cKEBORT T 4T
- BRKEXE
11 12 |REBRATHSBEMES »IFH A& 5, 000| EFRE A
- W FITRAB D& A & 3REE
11 |14~15|2ETBEBRES/+-74(FHE) wERL 71, 380
MR AERSE L5 0L B
« EMTER I DWW T
ot 1 3 =1 INE 84, 380
173 8] B IME 0
= BE = INE 0
6 |4~5 [ TEEBE~DEEL - PEIF RE 48, 990
EWN -BEWMTEHE IMNEE 48, 990
= B =4 INEH 0

1/2



A =] & )] A B ¥ H s = B =
()
[MBEREESEER. 7V, BEEEERR L)
10 24 |7°Vvh-4v7 LC2114PK USBZEHATH 7° - HEEmE 5, 067
g H #£ ® =B IME 5, 067
11 1 IBEFDOLCFHOFNIEZ 24 KEZEAE 2, 000
3 31 |FREEFTE (ALEIHTR) R E 37,116
3 31 |FrEEESTE (B R HELE 35, 856
3 31 |FrRETTE (AFAETRED) HFEmE 22, 644
3 31 |FEETE (RiK) HFEME 10, 197
B FrEETTEHEMREE (E4E3, 000 /A X124 H) HESE | A 36,000 £
¥E H B A B IMEF 71,813
A “% B I 0
S % i B M 0
=} Bt 210, 250

2/2



